suler), any&mmmidiwuexacﬁywhmﬂn
image is; whether it is real or virtual. and its size.

Ray 1 starts hovizontal and goes thri the correct focal point.

Convex lens: so +f

' — | < J ‘ real)

m;age

U The intersection
of the two rays is
the top of the image.

object is outside C (20) in front of a
the image is real, reduced,
'__betweenvfandc.

mdmsofc Clsa!waysequaltozf.

Rayl Rayhshntmmlandguesﬁ'omﬂzmpof"
- ’nhsdtawntoﬂnrealfomiponmfm\ugmtt__

ngz ' kxyzsmnsatmetopofthzobjectmdgoestoﬂnamafﬂndam Raylcmmmﬁn'aa
izl lens or reflects back from a mirror.

The Ima 'g’ej‘ : ! If the rays converge, the top of the image is where rays 1 and 2 cross. Iflhemysdmetge draw
eiisimiiinid - them backwards (virtually). Tﬁeum:alxm«seeaon:swhmmmpofﬁnmgmbg

Coanirmr((h\’ugem)
N ( _ Convex nrirvor: so~f
v I firmal)
c I d
Ra}.‘?gmm f \ Beaansethem,)xfhwge,
-the center of the the image is at the intersection
nmmrandrg‘lxrx back.. qfrixenwmmaimys_

!ftbwbjecﬁsbe(mfndChfmnt
of a convex mirror, then the image is virtual,
reduced, and located inside £.

Foralld&efallmﬁngdmms 1) labelfddem m,sidcsafthedev&x 2) mkmcomfomlpoﬁu

J)Mmmﬁ«gtmusbtgmeMemIes.
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3. A Whatkind of device? L2V5
B. Convergent or divergent? { o
€. Whi veal? - ~

F h= “u»

e {0
G Ha G0

E q=-0 rwy 1 M:tg:i;ffj} 05
A
Mg AN

lon
n = o Lot

lens
4em - ® 2om
7N\
— 10cm
F -20 cm _‘

Lega

G.h= ~lew
real or virtual image?

Use what you learned from the diagrams above ta answer the following:

10.+or=2
A 7 i forarealimage. G. _T_ qforareal image.
B. — qfora virtual image. H T b foravimalimage.
C. p for a real image. 1. _—_ qifonthe right side of a mirror.
D. q if on the left side of a mirror. 3. = qifon the left side of a lens.
E. T hifontheleftside of alens. K. _— Mifarealimage
F. 1 hifonthenghtsideofamimmor. L _—t Mifa virtual image.

11. A mirror produces a real image. ) 12.Alens produces a geal ymage.
A Whuch side is the image on? - A Which side is the image on? |

B. Is{ tor -2 B.Ifg+br-?

C Isxt mg@%oa@“gﬁi C Ist i Ferted?)

D. Ish' + of = D.Ish +



